[bookmark: _GoBack][image: C:\Users\Marian\Pictures\My Scans\2020-11 (Nov)\BUSINESS MATHEMATICS 1966 (1).jpg][image: C:\Users\Marian\Pictures\My Scans\2020-11 (Nov)\BUSINESS MATHEMATICS 1966 (2).jpg]
image1.jpeg
F 1966 (Pages : 2)

M.B.A. DEGREE EXAMINATION, FEBRUARY 2016
First Semester
BUSINESS MATHEMATICS
(2010 and 2011 Admissions—Mercy Chance)

Time : Three Hours Maximum : 60 Marks

Answer all questions.
Each question carries 12 marks.

2 4 3 1 1==b 1-3=9
1.(a) fA=|1 2 0|B=|-3 -2 4|C=|3 -2 4]|.Calculate(i)3A+2B;(ii))A+B+C;and
221 0= 46 L =72 -
(iii) 2A + 3B - 2C.
Or

(b) Find a vector that is perpendicular to the vector (1, 2, 3) with the same length. Also, find a
plane perpendicular to (1, 2, 3) that passes through the point (3, 2, 1).

2. (a) The total cost C of making x units of product is C = 0.00005 x3 — 0.06x2 + 10x + 20,000. Find
the marginal cost at 1,000 units of output.

Or
(b) Calculate TR and AR, if MR = 35 + 7q — 3¢2.

3. (a) Solve the following problem by the generalized reduced gradient method. Start at the point
x, = (2, 1, 3, 1) and have x; and x be the basic or dependent variables and x, and x5 the non
basic or independent variables :

Minimize x12 +4xo?
subject to x; + 2x9 —x3 =1
—% + x5 + x4 =0.

Or

(b) Find the maxima and minima of the function x3/3 — 4x2 + 12x.
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4. (a) 36 identical chairs must be arranged in rows with the same number of chairs in each row.
Each row must contain at least three chairs and there must be at least three rows. A row is
parallel to the front of the room. How many different arrangements are possible ?

Or

(b) Of the 200 candidates who were interviewed for a position at a call center, 100 had a
two-wheeler, 70 had a credit card and 140 had a mobile phone. 40 of them had both, a
two-wheeler and a credit card, 30 had both, a credit card and a mobile phone and 60 had both,
a two-wheeler and mobile phone and 10 had all three. How many candidates had none of the
three ?

5. (a) An amount of investment became Rs. 91,253 at the end of third year and Rs. 1, 38,784 at the
end of the sixth year, calculate the investment and the rate of compound interest.

Or

(b) Ifa,b, c are in Geometric progression and a* = b¥ = ¢?, prove that :
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(5 x 12 = 60 marks)
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